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1. WMOFHBEATRLTLARIN,
(1) 97 2
(2) 91 X 89

(3) 512 — 492

2. x= 12 0Lx, WOKXDEERDLI WV,
(b — x) (56 4+ x) +(x +7)(x +1)

3. x= 28D&%x, WOXDMEZERD2I U,
(7+ x)(7— x) +(x +4)(x +8)
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1. WROFEEZTELTLARIN,
(1) 97 2 = (100 — 3) 2
10000 — 600 —+ 9
= 9409

(2) 91 X 8 = (90 + 1) (9 — 1)
= 8100 — 1
= 8099

(3) 512 — 492 = (51 + 49) (51 — 49)
100 X 2
200

2. x= 120LE, ROXDEZ KDL,
(b — x) (6 4+ x) +(x +7)(x +1)
=925 — x 2+ x?+ 8 x + 7

8 x + 32

2T, x= 12 #KALT
8 x + 32
8 X 12 + 32

128 128

3. x= 280L%E, WOKXDEZRDILI W,
(7+ x)(7— x)+ (x +4)(x +8)
=49 — x 4+ x 2+ 12 x + 32
12 x + 81
2T, o x= 28 ZRALT
12 x + 81
12 X 28 + 8l
417 417




